‘ 3 (Sem-6) STS
2019

STATISTICS
( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions
Answer either in English or in Assamese
UNIT—I / ¢oifo—I
1. Answer the following as directed : 1x10=10
woTe R FRTHRpIT e fa -

(@) 1, 25 is a real constant.
(Write True or False)

1, 25 <bI I F4F |
(5151 ¢ farmy foran)

(b} R chart is used to show of the
samples.

(Fill in the blank)

R foa% afdmfmza ____ ompfq 33
(X1 3% o F)
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(2)

() Name one control chart of defectives.

a1 o et o T o

(d) Write the three basic logical operators
of FORTRAN.

FORTRAN ¥ 301 aiefis (s soRes
- o

(e) Define estimator.
e e i 1

(7 The sample mean is a consistent
estimator of u for an N{, 6 2) population.

. (Write True or False]
a0l N(u,c]aaﬁasﬂ%w-fwz%‘rmmﬂ—
R |

(751 = Ty foran)

(g) Calculate the value of 3+2**3)/.5.
B+2"*3) /.53 W Refy 311

(h) Write any one limitation of
econometrics.

SR R @ 9B Kvrzer Soag w41 |
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(3)

(i) Write one property of a good estimator.
o1 SR b1 o rEy 3]0 1

() How many lines are there in a control
chart?
9¥= g Pge @FeR @ A ?

2. Answer the following questions in brief :
2x5=10
T SPCAIRd oY T
(a) Define efficiency of an’estimator.

(b)

(c)

(d)

A9/681

A HR TR el T |

Write two differences between chance
causes of variation and assignable
causes of variation.

RO TAOIRNS WF HOIFC IFH ST
o1 onefe foram |

Write two rules for naming a variable.

b1 5T AR o1 e Bay 0

Write the form of ‘Do’ statement in
FORTRAN 77.

FORTRAN 77 © ‘Do’ Bf%%E oa o 1
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(4)

(e) Explain the justification of insertion of
U-term in a linear model.

GO (AT SRS U-termd S@$feR ISl
[ 90|

UNIT—II / ¢oio—II
3. Answer any four of the following questions :
o o A R P SRR S B s
(@) Examine unbiasedness of

e Ao 40
() S =%E(xi -%?

.. 1
() 3 ==2(x;-w?
nt

where p is known for population

variance 62

'S p WS AR PRI 62 A |

(b)) Compare between X and R chart in
SQC.
SQC® X SF R foud T&re goe 11

() Describe the methodology involved in
an econometric model.

wffafS =S fFenfee el 3 w1 1
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(5)

(d) Write a program to find the surface
area (SUR) and volume (VOL) of a box
with  dimensions @ b, ¢, where
SUR =2(ab + bc + ca) and VOL = abe.

a b c VS IF GOR IR (SUR) WIF
Hrged (VOL)ﬁ‘fﬂ?Fﬁﬁiﬂt!lﬁprogramﬁﬂ
@ SUR = 2(ab + be + ca) SF VOL = abc.

(e) Prove that sample mean is always
unbiased estimator of the population

mean.
o 9 @ oo g Smew R MR
FefoAe WP |

() Discuss the role of control charts in
controlling the quality of manufactured

products.
Beoqfirs SR @l fFE ovae fad Paw
S SCEnAl ¥4 |

UNIT—III / ¢on6—III
4. Answer the following questions : 10x4=40
oo PR e o

(a) Explain the process of the execution of
a Do Loop.
Do Loop ¥R 3 SAfRFITCH T 41|
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(6)

Or / 9411

Write a program and a flowchart that
reads an integer N and computes [V .

<51 SR TRYT N ORI F LN 511 FRT 1
9B program S¥ 90! flowchart 47 |
(b) Explain the utility of SQC in industry.
Toere SQC T ATEARS! 0T F40 |
Or / 9%

Construct a p chart using the following
data for a sample of 400 :

400 2w 4R Soq oy TeER IR 9= p g
T 90

Sample no. 1121345 |6]|7]| 8
No. of defectives | 35|41 120|168 |62|53|29| 34

Sample no. 9 |10[{11}12|13| 14| 15
No. of defectives | 17 | 42 | 29 | 43 | 49 | 26 | 38

(c) Define consistency. State and prove

invariant  property of consistent
estimator.

ST @ 71 oS AR ey
o Twe IR e ) ¥

A9/681
/ ( Continued )



(7)

Or / 811

If 7} and T, are two unbiased estimators

of r() with variances o2, 62 and

correlation p, what is the best unbiased

linear combination of T} and T, and what
is the variance of such a combination?

MM W T, r(6)F [ TS e W
T B4 o2, 03 T T p, (R T, IE
T,3 o SafeTe (aiRe I & wF ok e
o 2

(d) Write the five basic assumptions of
a linear regression model.

b (ART SEmrE wRe Siwol duE e
ferm

Or / 91

Estimate the regression parameters
by OLS method in a linear regression
model.

bl (3T SRR WRS OLS &fSra un=
aAmoe fefy 41 |

* kk
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